

# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE **COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE**



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3191283

PROGRAMME	: BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	≣)							SEMEST	TER : IV	
PRN	/Reg. No.	Examination Seat No.			Name of the	e Learner	r		Mont	h & Year	of Examin	ation
202101	6400378001	4121603		ANSAI	RI GUFRAN IN	ISAN ALI	SAJIDA		А	PRIL 202	3 REGULA	R
Course				Course		Gı	rade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title		Credits	TH/PR		IA	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMPL	JTATION		2.00	Α		O	<b>A</b> +	2.00	9	18.00	
USCSP401	THEORY OF COMPL	JTATION – PRACTICAL		1.00	A+			O	1.00	10	10.00	1
USCS402	COMPUTER NETWO	ORKS		2.00	Α		0	A+	2.00	9	18.00	1
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL		1.00	0			О	1.00	10	10.00	1
USCS403	SOFTWARE ENGINE	EERING		2.00	С		<b>A</b> +	B+	2.00	7	14.00	1
USCSP403	SOFTWARE ENGINE	EERING – PRACTICAL		1.00	0			О	1.00	10	10.00	1
USCS404	IOT TECHNOLOGIES	S		2.00	С		B+	С	2.00	5	10.00	8.30
USCSP404	IOT TECHNOLOGIES	S – PRACTICAL		1.00	A+			О	1.00	10	10.00	1
USCS405	ANDROID APPLICAT	TION DEVELOPMENT		2.00	В		0	Α	2.00	8	16.00	1
USCSP405	ANDROID APPLICAT	ΓΙΟΝ DEVELOPMENT – PRAC	CTICAL	1.00	0			О	1.00	10	10.00	1
USCS406	ADVANCED APPLIC	ATION DEVELOPMENT		2.00	В		0	B+	2.00	7	14.00	1
USCSP406	ADVANCED APPLIC	ATION DEVELOPMENT – PRA	ACTICAL	1.00	0			О	1.00	10	10.00	1
USCS4072	MANAGEMENT & EN	NTREPRENEURSHIP		2.00	B+		0	Α	2.00	8	16.00	1
Remarks :	emarks : SUCCESSFUL			20.00		Credit	s Earne	ed : 20.00			ΣCG= 166.00	SGPI= 8.30
	SEMESTER I SEMESTER II ts Earned = 20.00 SGPI = 8.25 Credits Earned = 20.00 SGPI = 9.			SE Credits Earned	MESTER III = 20.00 SG	PI = 7.50	Credits Ear	SEMESTER IV ned = 20.00	SGPI = 8.30	Overall	Grade =	A

Place : Alibag

Seal of the College Principal Date: 10/05/2023 **Checked By: Chairperson, Exam. Committee** 

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE **COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE**



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3097033

PROGRAMME	: BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	≣)							SEMEST	TER : IV	
PRN	/Reg. No.	Examination Seat No.			Name of the	e Learner	-		Mont	h & Year	of Examin	ation
202101	16400395243	4121604		ВН	OIR SUJIT JA	YVANT SI	EEMA		А	PRIL 202	3 REGULA	.R
Course			<u>-</u>	Course		Gı	rade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title		Credits	TH/PR		IA	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMP	UTATION		2.00	С		0	Α	2.00	8	16.00	
USCSP401	THEORY OF COMP	UTATION – PRACTICAL		1.00	0			0	1.00	10	10.00	
USCS402	COMPUTER NETWO	ORKS		2.00	<b>A</b> +		O	О	2.00	10	20.00	
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS403	SOFTWARE ENGIN	EERING		2.00	A+		<b>A</b> +	A+	2.00	9	18.00	
USCSP403	SOFTWARE ENGIN	EERING – PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS404	IOT TECHNOLOGIE	S		2.00	0		0	О	2.00	10	20.00	9.50
USCSP404	IOT TECHNOLOGIE	S – PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS405	ANDROID APPLICA	TION DEVELOPMENT		2.00	<b>A</b> +		0	A+	2.00	9	18.00	
USCSP405	ANDROID APPLICA	TION DEVELOPMENT – PRAC	CTICAL	1.00	0			О	1.00	10	10.00	
USCS406	ADVANCED APPLIC	CATION DEVELOPMENT		2.00	<b>A</b> +		0	О	2.00	10	20.00	
USCSP406	ADVANCED APPLIC	CATION DEVELOPMENT - PRA	ACTICAL	1.00	0			O	1.00	10	10.00	
USCS4072	4072 MANAGEMENT & ENTREPRENEURSHIP			2.00	Α		0	<b>A</b> +	2.00	9	18.00	
Remarks : S	emarks : SUCCESSFUL			20.00		Credit	s Earne	ed : 20.00	•	•	ΣCG= 190.00	SGPI= 9.50
	SEMESTER I SEMESTER II ts Earned = 20.00 SGPI = 9.70 Credits Earned = 20.00 SGPI = 9			SE redits Earned	MESTER III = 20.00 SG	iPI = 9.50	Credits Ear	SEMESTER IV ned = 20.00	SGPI = 9.50	Overall	Grade =	<b>A</b> +

Place : Alibag

Seal of the College Principal Date: 10/05/2023 **Checked By:** Chairperson, Exam. Committee

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE **COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE**



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3047506

PROGRAMME	: BACHELOR OF SCIE	ENCE (COMPUTER SCIENCE	:)							SEMEST	TER : IV	
PRN	/Reg. No.	Examination Seat No.			Name of the	Learner			Mont	h & Year	of Examin	ation
202101	16400398303	4121605		DESA	AI SAURABH SI	IIVAJI GI	EETA		А	PRIL 202	3 REGULA	R
Course		Course Title		Course		Gra	de		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title		Credits	TH/PR	1/	A	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMPL	JTATION		2.00	<b>A</b> +	C	)	<b>A</b> +	2.00	9	18.00	
USCSP401	THEORY OF COMPL	JTATION – PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS402	COMPUTER NETWO	PRKS		2.00	0	C	)	О	2.00	10	20.00	
USCSP402	COMPUTER NETWO	PRACTICAL		1.00	0		-	0	1.00	10	10.00	
USCS403	SOFTWARE ENGINE	ERING		2.00	<b>A</b> +	C	)	О	2.00	10	20.00	
USCSP403	SOFTWARE ENGINE	ERING – PRACTICAL		1.00	<b>A</b> +		-	О	1.00	10	10.00	
USCS404	IOT TECHNOLOGIES	3		2.00	Α	C	)	<b>A</b> +	2.00	9	18.00	9.80
USCSP404	IOT TECHNOLOGIES	S – PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS405	ANDROID APPLICAT	TION DEVELOPMENT		2.00	<b>A</b> +	C	)	0	2.00	10	20.00	
USCSP405	ANDROID APPLICAT	TION DEVELOPMENT – PRAC	TICAL	1.00	0		-	0	1.00	10	10.00	
USCS406	ADVANCED APPLIC	ATION DEVELOPMENT		2.00	0	C	)	0	2.00	10	20.00	
USCSP406	ADVANCED APPLIC	ATION DEVELOPMENT – PRA	ACTICAL	1.00	0		-	0	1.00	10	10.00	
USCS4072	MANAGEMENT & EN	NTREPRENEURSHIP		2.00	0	C	)	0	2.00	10	20.00	
Remarks :	SUCCESSFUL			20.00		Credits	Earne	d : 20.00	•	•	ΣCG= 196.00	SGPI= 9.80
SE Credits Earned =	MESTER I 20.00 SGPI = 9.15	SEMESTER II Credits Earned = 20.00 SG	GPI = 10.00 Cr	~ -	MESTER III = 20.00 SGP	I = 9.65 C	redits Ear	SEMESTER IV ned = 20.00	SGPI = 9.80	Overall	Grade =	<b>A</b> +

Place : Alibag

Seal of the College Date: 10/05/2023 **Checked By: Chairperson, Exam. Committee** 

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE **COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE**



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3134550

ROGRAMME	: BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	:)					SEMES	ΓER : IV	
PRN	/Reg. No.	Examination Seat No.		Name of the	Learner		Mont	h & Year	of Examin	ation
202101	6400382993	4121606	/GAI	KAR MANASVI MA	NGESH M	ADHURI	A	PRIL 202	3 REGULA	R
Course			Cours	e	Gra	de	Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title	Credit	S TH/PR	14	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMP	UTATION	2.00	С	C	B+	2.00	7	14.00	
USCSP401	THEORY OF COMP	UTATION – PRACTICAL	1.00	A+		- A+	1.00	9	9.00	
USCS402	COMPUTER NETWO	ORKS	2.00	С	C	B+	2.00	7	14.00	
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL	1.00	0		- o	1.00	10	10.00	
USCS403	SOFTWARE ENGIN	EERING	2.00	Α	C	) A+	2.00	9	18.00	
USCSP403	SOFTWARE ENGIN	EERING – PRACTICAL	1.00	A+		- A+	1.00	9	9.00	
USCS404	IOT TECHNOLOGIE	S	2.00	С	A-	+ В	2.00	6	12.00	7.80
USCSP404	IOT TECHNOLOGIE	S – PRACTICAL	1.00	0		- o	1.00	10	10.00	
USCS405	ANDROID APPLICA	TION DEVELOPMENT	2.00	С	Α	В	2.00	6	12.00	
USCSP405	ANDROID APPLICA	TION DEVELOPMENT – PRAC	TICAL 1.00	0		- О	1.00	10	10.00	
USCS406	ADVANCED APPLIC	CATION DEVELOPMENT	2.00	B+	Α	В+	2.00	7	14.00	
USCSP406	ADVANCED APPLIC	CATION DEVELOPMENT – PRA	ACTICAL 1.00	A+		- o	1.00	10	10.00	
USCS4072	MANAGEMENT & EI	NTREPRENEURSHIP	2.00	В	A-	+ B+	2.00	7	14.00	
emarks : S	SUCCESSFUL		20.00	)	Credits	Earned : 20.00			ΣCG= 156.00	SGPI= 7.80
SE edits Earned =	MESTER I 20.00 SGPI = 7.70	SEMESTER II  Credits Earned = 20.00 S	GPI = 7.90 Credits Ear	SEMESTER III ned = 20.00 SGF	PI = 7.40 CI	SEMESTER I redits Earned = 20.00	V SGPI = 7.80	Overall	Grade =	B+

Place : Alibag

Seal of the College Date: 10/05/2023 **Checked By:** Chairperson, Exam. Committee

Principal



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE **COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE**



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3047512

ROGRAMME	: BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	)					SEMES	TER : IV	
PRN	I/Reg. No.	Examination Seat No.		Name of the L	.earner		Mont	th & Year	of Examin	ation
20210	16400386302	4121607	/GHARAT	SANIKA SHAR	AD SULAKSHA	NA	Α	PRIL 202	3 REGULA	.R
Course			Course		Grade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title	Credits	TH/PR	IA	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMP	UTATION	2.00	<b>A</b> +	0	A+	2.00	9	18.00	
USCSP401	THEORY OF COMP	UTATION – PRACTICAL	1.00	0		0	1.00	10	10.00	
USCS402	COMPUTER NETWO	ORKS	2.00	0	0	0	2.00	10	20.00	
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL	1.00	0		0	1.00	10	10.00	
USCS403	SOFTWARE ENGIN	EERING	2.00	Α	0	Α	2.00	8	16.00	
USCSP403	SOFTWARE ENGIN	EERING – PRACTICAL	1.00	0		0	1.00	10	10.00	
USCS404	IOT TECHNOLOGIE	S	2.00	Α	A+	Α	2.00	8	16.00	9.4
USCSP404	IOT TECHNOLOGIE	S – PRACTICAL	1.00	0		0	1.00	10	10.00	
USCS405	ANDROID APPLICA	TION DEVELOPMENT	2.00	<b>A</b> +	0	0	2.00	10	20.00	
USCSP405	ANDROID APPLICA	TION DEVELOPMENT – PRAC	TICAL <b>1.00</b>	0		0	1.00	10	10.00	
USCS406	ADVANCED APPLIC	CATION DEVELOPMENT	2.00	<b>A</b> +	0	A+	2.00	9	18.00	
USCSP406	ADVANCED APPLIC	CATION DEVELOPMENT – PRA	CTICAL 1.00	0		0	1.00	10	10.00	
USCS4072	MANAGEMENT & E	NTREPRENEURSHIP	2.00	0	0	0	2.00	10	20.00	
emarks :	SUCCESSFUL		20.00	(	Credits Earr	ned : 20.00		•	ΣCG= 188.00	SGP1 9.40
SE	MESTER I	SEMESTER II	SEI	MESTER III		SEMESTER IV		Overall	Grade =	A+

Place : Alibag

Credits Earned = 20.00

Seal of the College Principal Date: 10/05/2023 **Checked By:** Chairperson, Exam. Committee

SGPI = 9.45 Credits Earned = 20.00

SGPI = 9.65 | Credits Earned = 20.00

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

SGPI = 9.55 Credits Earned = 20.00

SGPI = 9.40



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3029550

ROGRAMME	: BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	)					SEMES	TER : IV	
PRN	/Reg. No.	Examination Seat No.		Name of the I	Learner		Mont	h & Year	of Examir	ation
202101	6400381421	4121608	/HC	LE VAISHNAVI S	SUNIL MEENA		А	PRIL 202	3 REGULA	ıR
Course			Course		Grade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title	Credits	TH/PR	IA	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMP	UTATION	2.00	D	0	В	2.00	6	12.00	
USCSP401	THEORY OF COMP	UTATION – PRACTICAL	1.00	A+		<b>A</b> +	1.00	9	9.00	
USCS402	COMPUTER NETWO	ORKS	2.00	AB	АВ					
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL	1.00	0		0	1.00	10	10.00	
USCS403	SOFTWARE ENGIN	EERING	2.00	AB	0					
USCSP403	SOFTWARE ENGIN	EERING – PRACTICAL	1.00	0		0	1.00	10	10.00	
USCS404	IOT TECHNOLOGIE	S	2.00	AB	Α					
USCSP404	IOT TECHNOLOGIE	S – PRACTICAL	1.00	0		0	1.00	10	10.00	
USCS405	ANDROID APPLICA	TION DEVELOPMENT	2.00	AB	АВ					
USCSP405	ANDROID APPLICA	TION DEVELOPMENT – PRAC	TICAL 1.00	AB						
USCS406	ADVANCED APPLIC	CATION DEVELOPMENT	2.00	AB	AB					
USCSP406	ADVANCED APPLIC	CATION DEVELOPMENT – PRA	ACTICAL 1.00	АВ						
USCS4072	MANAGEMENT & EI	NTREPRENEURSHIP	2.00	АВ	AB					
emarks : (	UNSUCCESSFUL		20.00	(	Credits Earı	ned :			ΣCG= - 	SGPI= -
SEI dits Earned =	MESTER I 20.00 SGPI = 9.55	SEMESTER II  Credits Earned = 20.00 S	S GPI = 8.70 Credits Earned	EMESTER III = 20.00 SGPI	= 7.35 Credits E	SEMESTER IV	SGPI =	Overall	Grade =	

Place : Alibag

Date: 10/05/2023 Checked By: Chairperson, Exam. Committee Seal of the College Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3397872

ROGRAMME	: BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	)						SEMEST	TER : IV	
PRN	/Reg. No.	Examination Seat No.		Name of the	Learner			Mont	h & Year	of Examin	ation
202101	6400383795	4121609	MOURYA S	HUBHAM SHRAV	ANKUMAI	R SARAS	WATI	А	PRIL 202	3 REGULA	R
Course			Course		Gra	ade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title	Credits	TH/PR	1	A	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMP	UTATION	2.00	D		0	В	2.00	6	12.00	
USCSP401	THEORY OF COMP	UTATION – PRACTICAL	1.00	A+	-		A+	1.00	9	9.00	
USCS402	COMPUTER NETWO	ORKS	2.00	D	ı	D	D	2.00	4	8.00	
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL	1.00	Α	-		Α	1.00	8	8.00	
USCS403	SOFTWARE ENGIN	EERING	2.00	D	4	A	С	2.00	5	10.00	
USCSP403	SOFTWARE ENGIN	EERING – PRACTICAL	1.00	A+	_		0	1.00	10	10.00	
USCS404	IOT TECHNOLOGIE	S	2.00	D	ı	D	D	2.00	4	8.00	6.30
USCSP404	IOT TECHNOLOGIE	S – PRACTICAL	1.00	A+	_		О	1.00	10	10.00	
USCS405	ANDROID APPLICA	TION DEVELOPMENT	2.00	D	1	A	С	2.00	5	10.00	
USCSP405	ANDROID APPLICA	TION DEVELOPMENT – PRAC	TICAL <b>1.00</b>	0	_		О	1.00	10	10.00	
USCS406	ADVANCED APPLIC	CATION DEVELOPMENT	2.00	B+	1	A	B+	2.00	7	14.00	
USCSP406	ADVANCED APPLIC	CATION DEVELOPMENT – PRA	ACTICAL 1.00	A+	_		A+	1.00	9	9.00	
USCS4072	MANAGEMENT & EI	NTREPRENEURSHIP	2.00	D	В	S+	D	2.00	4	8.00	
emarks : S	SUCCESSFUL		20.00		Credits	Earne	ed : 20.00	•		ΣCG= 126.00	SGPI= 6.30
SEI edits Earned =	MESTER I 20.00 SGPI = 6.60	SEMESTER II  Credits Earned = 20.00 S	GPI = 7.10 Credits Earne	SEMESTER III d = 20.00 SGP	I = 5.90 C	Credits Ear	SEMESTER IV	SGPI = 6.30	Overall	Grade =	В

Place : Alibag

Date: 10/05/2023 Checked By: Chairperson, Exam. Committee Seal of the College Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

----



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE **COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE**



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3037116

PROGRAMME	: BACHELOR OF SCIE	ENCE (COMPUTER SCIENCE	E)							SEMEST	ΓER : IV	
PRN	/Reg. No.	Examination Seat No.			Name of the	Learne	-		Mont	h & Year	of Examin	ation
202101	6400380182	4121610		PALVAN	KAR SHREYAS	SANTOS	SH SONAL	I	А	PRIL 202	3 REGULA	R
Course				Course		G	rade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title		Credits	TH/PR		IA	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMPL	JTATION		2.00	D		0	В	2.00	6	12.00	
USCSP401	THEORY OF COMPL	JTATION - PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS402	COMPUTER NETWO	ORKS		2.00	В		<b>A</b> +	B+	2.00	7	14.00	
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS403	SOFTWARE ENGINE	EERING		2.00	B+		0	Α	2.00	8	16.00	
USCSP403	SOFTWARE ENGINE	EERING – PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS404	IOT TECHNOLOGIES	S		2.00	С		B+	С	2.00	5	10.00	7.80
USCSP404	IOT TECHNOLOGIES	S – PRACTICAL		1.00	A+			A+	1.00	9	9.00	
USCS405	ANDROID APPLICAT	TION DEVELOPMENT		2.00	В		0	Α	2.00	8	16.00	
USCSP405	ANDROID APPLICAT	ΓΙΟΝ DEVELOPMENT – PRAC	CTICAL	1.00	0			О	1.00	10	10.00	
USCS406	ADVANCED APPLIC	ATION DEVELOPMENT		2.00	С		0	B+	2.00	7	14.00	
USCSP406	ADVANCED APPLIC	ATION DEVELOPMENT – PRA	ACTICAL	1.00	A+			A+	1.00	9	9.00	
USCS4072	MANAGEMENT & EN	NTREPRENEURSHIP		2.00	Α		0	Α	2.00	8	16.00	
Remarks :	SUCCESSFUL			20.00		Credit	s Earne	ed : 20.00	-		ΣCG= 156.00	SGPI= 7.80
SE Credits Earned =	SEMESTER I SEMESTER II SEARNED = 7.90   Credits Earned = 20.00   SGPI = 7.90   Credits Earned = 20.00   Credits Earned			SE Credits Earned	MESTER III = 20.00 SG	PI = 6.75	Credits Ear	SEMESTER IV ned = 20.00	SGPI = 7.80	Overall	Grade =	B+

Place: Alibag

Seal of the College Principal Date: 10/05/2023 **Checked By: Chairperson, Exam. Committee** 

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3047507

ROGRAMME	: BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	≣)							SEMEST	ER : IV	
PRN	I/Reg. No.	Examination Seat No.			Name of the L	Learner			Mont	h & Year	of Examin	ation
202101	16400397861	4121611	-	THAKUR	ATHARV PRAV	VIN PRA	ATIKSHA		Α	PRIL 202	3 REGULA	R
Course			Со	ourse		Gr	ade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title	Cre	edits	TH/PR	] :	IA	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMP	UTATION	2	2.00	D		0	В	2.00	6	12.00	
USCSP401	THEORY OF COMP	UTATION – PRACTICAL	1	1.00	<b>A</b> +			A+	1.00	9	9.00	
USCS402	COMPUTER NETWO	ORKS	2	2.00	С		O	B+	2.00	7	14.00	
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL	1	1.00	0			О	1.00	10	10.00	
USCS403	SOFTWARE ENGIN	EERING	2	2.00	С		<b>A</b> +	В	2.00	6	12.00	
USCSP403	SOFTWARE ENGIN	EERING – PRACTICAL	1	1.00	0			О	1.00	10	10.00	
USCS404	IOT TECHNOLOGIE	S	2	2.00	D		Α	С	2.00	5	10.00	7.45
USCSP404	IOT TECHNOLOGIE	S – PRACTICAL	1	1.00	0			О	1.00	10	10.00	
USCS405	ANDROID APPLICA	TION DEVELOPMENT	2	2.00	В		O	Α	2.00	8	16.00	
USCSP405	ANDROID APPLICA	TION DEVELOPMENT – PRAC	TICAL 1	1.00	0			0	1.00	10	10.00	
USCS406	ADVANCED APPLIC	CATION DEVELOPMENT	2	2.00	С		0	B+	2.00	7	14.00	
USCSP406	ADVANCED APPLIC	ATION DEVELOPMENT – PRA	ACTICAL 1	1.00	0			О	1.00	10	10.00	
USCS4072	MANAGEMENT & EI	NTREPRENEURSHIP	2	2.00	С		В	В	2.00	6	12.00	
emarks : S	SUCCESSFUL		20	0.00		Credits	s Earne	ed : 20.00			ΣCG= 149.00	SGPI= 7.45
SEI dits Earned =	MESTER I 20.00 SGPI = 8.25	SEMESTER II  Credits Earned = 20.00 S	GGPI = 8.25 Credits		MESTER III = 20.00 SGPI	= 7.30	Credits Ear	SEMESTER IV	SGPI = 7.45	Overall	Grade =	B+

Place : Alibag

Date: 10/05/2023 Checked By: Chairperson, Exam. Committee Seal of the College Principal



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE **COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE**



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3132941

PROGRAMME :	BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	E)							SEMEST	TER : IV	
PRN	/Reg. No.	Examination Seat No.			Name of the	Learner	-		Mont	h & Year o	of Examin	ation
202101	6400384864	4121612		WAKAI	DE DHANANJA	Y VIVEK	URMILA		А	PRIL 202	3 REGULA	R
Course		Course Title		Course		Gi	rade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title		Credits	TH/PR		IA	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMP	UTATION		2.00	D		<b>A</b> +	С	2.00	5	10.00	
USCSP401	THEORY OF COMP	UTATION – PRACTICAL		1.00	0			0	1.00	10	10.00	
USCS402	COMPUTER NETWO	ORKS		2.00	D		B+	С	2.00	5	10.00	
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL		1.00	Α			Α	1.00	8	8.00	
USCS403	SOFTWARE ENGIN	EERING		2.00	В		<b>A</b> +	B+	2.00	7	14.00	
USCSP403	SOFTWARE ENGIN	EERING – PRACTICAL		1.00	A+			A+	1.00	9	9.00	
USCS404	IOT TECHNOLOGIE	S		2.00	С		В	С	2.00	5	10.00	6.35
USCSP404	IOT TECHNOLOGIE	S – PRACTICAL		1.00	<b>A</b> +			A+	1.00	9	9.00	
USCS405	ANDROID APPLICA	TION DEVELOPMENT		2.00	D		Α	С	2.00	5	10.00	
USCSP405	ANDROID APPLICA	TION DEVELOPMENT – PRAC	CTICAL	1.00	0			О	1.00	10	10.00	
USCS406	ADVANCED APPLIC	CATION DEVELOPMENT		2.00	D		A	С	2.00	5	10.00	
USCSP406	ADVANCED APPLIC	CATION DEVELOPMENT – PR	ACTICAL	1.00	A+			A+	1.00	9	9.00	
USCS4072	MANAGEMENT & E	NTREPRENEURSHIP		2.00	D		В	D	2.00	4	8.00	
Remarks : S	SUCCESSFUL			20.00		Credit	s Earn	ed : 20.00	•		ΣCG= 127.00	SGPI= 6.35
SEN Credits Earned = 2	MESTER I 20.00 SGPI = 6.90	SEMESTER II  Credits Earned = 20.00	SGPI = 7.40 (	SE Credits Earned	MESTER III = 20.00 SGI	PI = 6.05	Credits Ea	SEMESTER IV rned = 20.00	SGPI = 6.35	Overall	Grade =	В

Place : Alibag

Seal of the College Principal Date: 10/05/2023 **Checked By:** Chairperson, Exam. Committee

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



# SMT. INDIRABAI G. KULKARNI ARTS COLLEGE, J.B. SAWANT SCIENCE **COLLEGE AND SAU. JANAKIBAI DHONDO KUNTE COMMERCE COLLEGE**



(Affiliated to University of Mumbai)

LATE NANASAHEB KUNTE EDUCATIONAL COMPLEX BEHIND SBI, MAHARSHI KARVE ROAD ALIBAG, DIST-RAIGAD 402 201

#### **GRADE CARD**

Student Id 3097034

PROGRAMME :	BACHELOR OF SCI	ENCE (COMPUTER SCIENCE	E)							SEMES	ΓER : IV	
PRN	/Reg. No.	Examination Seat No.			Name of the	Learner	r		Mont	h & Year	of Examin	ation
202101	6400395386	4121613		WALA	VALKAR RAJ	ANAND A	ANJALI		А	PRIL 202	3 REGULA	R
Course		Course Title		Course		Gi	rade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title		Credits	TH/PR		IA	OVERALL	(C)	(G)	CxG	ΣC
USCS401	THEORY OF COMP	UTATION		2.00	D		0	В	2.00	6	12.00	
USCSP401	THEORY OF COMP	UTATION – PRACTICAL		1.00	0			0	1.00	10	10.00	
USCS402	COMPUTER NETWO	ORKS		2.00	B+		D	В	2.00	6	12.00	
USCSP402	COMPUTER NETWO	ORKS – PRACTICAL		1.00	0			О	1.00	10	10.00	
USCS403	SOFTWARE ENGIN	EERING		2.00	С		0	B+	2.00	7	14.00	
USCSP403	SOFTWARE ENGIN	EERING – PRACTICAL		1.00	<b>A</b> +			0	1.00	10	10.00	
USCS404	IOT TECHNOLOGIE	S		2.00	Α		С	B+	2.00	7	14.00	7.30
USCSP404	IOT TECHNOLOGIE	S – PRACTICAL		1.00	<b>A</b> +			О	1.00	10	10.00	
USCS405	ANDROID APPLICA	TION DEVELOPMENT		2.00	С		<b>A</b> +	В	2.00	6	12.00	
USCSP405	ANDROID APPLICA	TION DEVELOPMENT – PRAC	CTICAL	1.00	0			О	1.00	10	10.00	
USCS406	ADVANCED APPLIC	CATION DEVELOPMENT		2.00	С		<b>A</b> +	В	2.00	6	12.00	
USCSP406	ADVANCED APPLIC	CATION DEVELOPMENT – PR	ACTICAL	1.00	0			О	1.00	10	10.00	
USCS4072	MANAGEMENT & EI	NTREPRENEURSHIP		2.00	С		Α	С	2.00	5	10.00	
Remarks : S	SUCCESSFUL			20.00		Credit	s Earne	ed : 20.00			ΣCG= 146.00	SGPI= 7.30
SEN Credits Earned = 2	MESTER I 20.00 SGPI = 8.35	SEMESTER II  Credits Earned = 20.00	SGPI = 8.55 C		MESTER III = 20.00 SGF	PI = 6.75	Credits Ear	SEMESTER IV rned = 20.00	SGPI = 7.30	Overall	Grade =	B+

Place : Alibag

Seal of the College Principal Date: 10/05/2023 **Checked By:** Chairperson, Exam. Committee

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female